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| . OPTION-A | - aﬁawm _ R R afews -
' (Analytical Clinical Biochemistry] - I | | |
| Paper : CHE-SE-4014 ‘ @) Pentoses present in DNA and RNA are .
. - o - . : _ __and-. respectively.
- 1. Answer:-'any four of the following : , | DNA WRNA © 4 Slew W GRY T
- (Choose .the correct answer /[ Fill in the o o l '
blanks) : : L 1x4=4 | L — B _
(U] ﬁmwﬁﬁmhﬁm(%%@aﬁ s (e). Whi_Ch one of the following is a non-
. %%le 3/ A o ol q W ys .- N B digestible polysaccharide ? : a
o 1 * SR (ARG R G RO R 2 e
(a) In eukaryotes, fatty a<31d break down - ' , R ‘
' ‘occurs inside : 1 (i) Cellulose ..CWI’@
T (R (S, (FZ, ﬂmzﬁ Rorem ¥ | (i) Starch CHSHT
' S (i) rmtochondnal matrix _ o (tii) Inuline 33{‘%"“ :
. I mmwmmrw— - (iv) Glycogen aIZFwEH
N (ii) cytosol ' . ' . () Arachidonic acid has 20 ‘carbon.atoms
. @R oo : : - with : double bonds. :
(i) cell membrane ‘ o - itk elf?se— 200t A ‘WVIQ“W I
() endoplasmlc retrculum i (9) Nurrlerlcal chang h '
fooss esinc romosomes are
L T AT @Tﬁl@ﬁ o called _
(b) is the simplest amg acid. - F AT ﬂ%ma?lmﬁﬁﬁas - m'@l
S — TBIRSC 7 (h) Lactose is composed of - and = -
(© ___ types of amino acrds are N - -
required to synthesrze a protem . : ‘ | wm . weieE (,?{?‘57 51‘371'53{!
3.(S'em_‘-‘4/-csc's,cns S 1/2/3,9“,5’6/0 5 o : : | .3(Sem-4/cs'cs;'CHE's51/2/3/4/5/6/6 3 - s - -C_jont.d.
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- Answer any three of the following: 2"3 6
A Riczatzert fotasr e e A ¢

{a) What ‘are called denaturation and

coagulation of proteins ?

aﬁmﬁm&mmwmm @1(6’19

- (b) 'Deglne co- -enzymes and co- —factors.
RS THS WS AT et &7l |

(c) Write fwo biological roles of DNA.
DNAS 701 TeriRes R s7sies forail 1

(d) -How does pH affect on enzyme

act1V1ty'> What is H
range» i called optlmum p

‘%smm@mwoﬁ—pﬂmﬁsma—ﬁﬁ@ﬁ

P2 ST pH T W e
(e) “What are biocatalysts ? Give example
“ m SRR e TreRel ﬁzm
{j] -%Ifk\lat is ‘called rancidity of Lipids ?
| PP RS e g
Answer any two of the followmg
‘5x2= 10
= At g MR o o 2
. (@) Write a note on the classificétion of
enzymes.

%Qmm mﬁﬁﬁwﬂwaﬁ c‘maﬁf?i*”'
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P
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(b)) What is- biocatalysis? How is it
important in green chemistry ?

mm%9mﬁmw?@ﬁ—ﬁmﬁw” |

(c) Write a note on characterlzatlon of
. polysaccharldes

azwmmeﬂa—«ﬂﬁ cﬁmﬁrr«’m .

@) What are the structural levels of protem L

organisation ? Explain.

.‘aﬁaﬁ\mﬁnﬂsﬁaﬁmcﬁﬁﬁsw e |
WI

() What are the chemical components of
nucleic acids ? Explain.

- ﬁe@m@awxﬁwm%evw
-

() Explain the mechanism of lock and
key theory of enzyme action.

TR SHA-YR sz—aw ﬁmﬁf@ ENE
34l .

Answer any three ,of the followmg
' 10x3=30
o fﬁzasrm fofst e w >R ¢
(a) erte a note on Kreb’s cycle.
| (@R5TE GO a%t c%m v
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(b)

o

@

e

What are peptlde hormones ? What are

the main types of peptide hormones ?
. Give the name of two peptide
| about the .
~ biochemistry of at least one peptide
C14+1+2+46=10" -

hormones. Write

hormone.

RS RO R (oB1RE e el 2
@B B foe g7 (o1obize e A B

gﬁmﬂﬁfmﬁﬁamtmwmum—
M -

What is DNA - rephcatlon? E*(plam

AIDNA.@UT_T$?F$937JTQQH;

How are protelns 1solated and .
charactenzed ? What is protem
denaturation ? - 6+4=10

LS Ty
3 lSem~4/CBCSl CHE SE 1/2 3 413/5/@,_; 6

WA AR IR O taﬁw«r Lo IR "

‘_W?‘efﬁw%&rﬂﬁm%? o -

_ What is meant by genetlc code? a
~-Explain it. ‘What are. the propertles of o
'genetlc code'> o e

ﬁﬁfﬁﬂ ‘F[\'@r‘ 2]51:?‘ @r(a? zmzr[ WI ﬁ?}

‘fsm Wﬁs e ‘ .

| What are. hposomes'P erte some
: _bxologlcal functions of liposomes. - et

| 3;'1%191’@ ‘[’*’R ﬁw %{ﬂ@m zz—ﬁas zﬁrﬂ’ L

| e

M

-How many factors are there_ in blood

coagulation process ? Write a brief note
on blood coagulation process in human.

a—wt—eﬁrqﬁsmmﬁawmw% .
Wmm—mﬁfiﬂmeﬂa—wm ‘
fovan| |

What are the major components of

- urine? How can we differentiate the

normal urine from pathological/
abnormal urine in case of Hepatltls—B _
virus infection in liver ? '

WﬁW%W%ﬁS‘»WW

o] (2Ii5IER-B iRy FKEWR (FES .
'WW’\‘WWT@?/@WW 9an¢-'

) 4*"ﬁ=ﬁaﬂ€a gak
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Answer any four. questions : 1x4=4
ﬁzasrm BIfG! o e SRA
(i) It is better to ' waste than to |

OPTION—

(Green Methods in Chemistry)

| Paper : CHE-SE-4024

treat or clean up waste after it is
formed. " “(Fill in the blank)

A'Wﬂmﬁmmﬁwmmaﬁﬁm@

i)

(i) The full form of CFC is '

o | : (Fill in the blank)
pmamcfm T

(S ar g )

'&Zﬂmﬁal

W‘ﬁ%wm <G @R

The Pollutlon Preventlon Actof
was the ﬁrst 1n1t1at10n in the U.S..

* (Fill in the blank),

W srfeta o e R
amﬁw?ifirm (:/rsﬁﬁqcfzﬁr)

w, C
(iv) 02 exists as a supercrltlcal fluid at

—__atm.

31°C and

3 (Sem-4/CBCS) CHE SE 1/23/4/5(6/c g

(wﬁﬁﬁw)_ -

(Fill in the blank)‘

‘atm BI9® CO, -

- 31°C 9™ |
IRTER AN 4TS Al RN IR
=) '

o

i)

‘women that may cause acute birth

(vii)

" ‘material.’

g e |

- (viii) For green v"s'y_nthesis of adipic acid.

Define atom economy.

5% 2 ARR e B |

Name the drug taken by " pregnant

defect.
TSI W F 8T R TR FoT© HAR
Gﬁl‘)‘i‘ ﬁ?i ﬂi%c"irﬁ ﬂ MNE ? -

Catalytic reagents are. supenor to
sto1ch10metrlc reagent.
(Select T rue or False)

Wﬂmﬁmﬂ_ﬁw%
(T @ oF 9T )

D-galactose can be used as the starting
(Select True or False)

o ey T Aess D- CW’G
WWW"IWW@I
| (Wm@ravﬁqﬁrwr)
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o ey T —————

e . “Al . = : : o ’ .
v 2 _ .A.ns‘{‘f‘?r any three : 2x3=6 1 3. Write short notes on (any two) : 5x2=10
: e R bor v s o e e R v, o e 5 -
. (a) erte a chemlcal reactmn carrled Out, o | ﬁ) Bhopal Disaster
) .  in water as a. solvent. o AT m
AR 0ot e W ﬁr—m aﬁ g o
R ﬁ_m cﬂzﬂ L o (i) Vietnam War (1970) ‘
o o L feubaR R (%%0) L
: (b,)' hat are the goals of green chemlstfy Lo : (iii) Antifoulants

| O TR wem Bl R TS
i ' ) v _ ' ,
I @ Z‘/;rlte two addition reactlons with 100% . . (iv) Green synthesis of ibuprofen
b . om eCOnomy ’ / o
S | | | Saa FTee e
b mm\ﬁmﬁmmmmmﬁ@ﬂﬁ (S T \
" o W"f %NTI o T ) Green solvents for chemical react1ons
e (d) erte '
Y , the ch lved | ,
! : in ere emical reactions invo - (vi) Pressure treated wood

8green synthesis of benzoic acid from ,
| toluene, - ' , ' el BoT
B S W & e afes m FRCEA - 4. Answer any three questions given below :
N C RS Rt gy o | | - 10x3=30
- |  (6) What is right fit azo p1gment? , ' were fral 'ﬁzm sfeat forabr W%@ forar 8
| o 31?{5%% W 353 o o B (a) Write the use of surfactant CO, in the
(f): What is the Structur.elof TBTO ? | ’ ‘ ' B field -of dry cleanmg
TBTO 3 1% & fray | i | o SRETS PIETT CO,T TR ﬁvm

o fera

3 (Sem-4/CBCS) CHE SE 1/2/3)4 '
! [ | 13 /§I6IG 10 3 Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 11 B Contd.




() Write the advantages and:
disadvantages -of perchloroethylene
 (PERC) used as a solvent for dry -
cleaning. Draw the structure of
polystyrene CO,- copolymer. 8+2=10

).' ﬁze{l?ilmn' the use of antifoulant in the’
. of water transportation. | |

5% REROR (RS TS T AT RRIL
(PERC) FR&1 1% SPIRAICAR fovdl | sife@izfe S

O Usegpa . S

| as ;’ichmrmum and arsenic is restricted
:,':?ﬁ‘DiSéﬁseésrcrYative for wood industry-

S T FHSS-about their alterriétives. '
S ;m‘ﬁ;"@‘wﬁmmawmmv
U Tz g Ao R

(99 How can synthetic azo pigments
replace toxic organic and inorganic

o\

| : pigments? - , .
(@) What are ; | ‘ . HeRS 9T IGTRNE RwE RAG (o S
hydrogen porensy, PIRIn the use e IR A T 7
7~ P8P peroxide f - .o the : o S
Pro_CesS'of delignif; or Catalymri.ag;l 0 (h) Write the principles of green chemistry
. fgmﬁ:‘ QW Shyme. -2 ) . ~ with suitable examples.
| o mm ﬁh’ o oftrare SHRE SO _ CTEE TR TAAMRR o gurTes Trred
. ' CWWW?W' L - S |

- ~3 (Sem-4/CBCS) CHE SE 12
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" OPTION-C

(Pharmaceutical Chemistry) |

.Paper : CHE-SE-4034

. Answer .any four quest1ons from the
following : 1x4=4

—a—ﬁmmﬁaﬁaw Rzt sifa5ie Tas 1 ¢

(@)

(b)

(c)

(@)

How many numbers of N atoms ar¢
- present in vitamin By ?

«WBwﬁwxﬂ\WNw«iW?

What are NSAIDs'>

~ NSAID St & qune

What is fermentation ?

ﬁ_ﬂﬁ (W‘) & 7{219

What is meant by a lead compound in

medicinal chemxstry ?

B3R T Reie o Tl (ﬁ«w G
I B g e

Define chemotherapeutic'. index.

‘ C@l’t‘iﬁl‘f\ﬁ?ﬁ w wiert fami |

Write the name of two enzymes mvolved

in the fermentatlon of glucose to citric
acid.

3 (Sem-4/CBCS) CHE SE 123/4/5/6/G 14

g’s’@ﬁwmﬁaa i o e
-(WW)WMW%QWW
S I

(gl 'What is the heterocyclic rmg system
: present in vitamin C?

ESnagel w%ﬁ’sﬁﬁ@ﬁ"mﬁ@‘? |

(h) What are barblturates 7

,aﬁﬁm.w%a@?

2. Answer the followmg any three questlons

2x3=6
O zrefﬁma [ faewe e TeT =1 ¢
(a)  How -many numbers of stereoisomers

are possible for chloramphenicol ?
Which isomer is responsible for

antibiotic behaviour ? Draw its

structure.

RS c@fﬂ ERE=IpIR TSI 2

mmwﬁmﬁswwmﬂ

WWWI

(p) What is the heterocychc ring system

present in vitamin B, ? Write the name
of a disease that occurs due to the
deficiency of vitamin Bis.
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; _ cannot dopamlne be admlnlstered
: d1rect1y'>

| TONER Wi ST (g [ e G

e arerreng R 33 e
(d) Deﬁne agonlst and antagonist drugs-
' Give examples.
P t
, o =

| ) fe). What are mean
| . . t t nd
| " sedatives 2 : by hypno ics a

i &M%Wmﬁ‘mﬁr a1 9

[ ) A\leiat are analgesics ? Write the name
and structure of an analgesic drug.

GATEHTER B =52 <G @W Qa@ )

4“%%?{"@*%{%

5 3;__ Answer an

P following : - 5x2=10

| o el erReres st Rz g Tes w1

{

L (a) What is lePI‘OSy ? Which bacterla1
I Species is responsible for leprosy * ? Write

the hame and structure of an

| - . anti-leprosy dru and a
‘ ropose¢
g . synthes1svfor it, g P 012 1+3=5

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 16

.1\9[3 ILSFJ B, @ 25l Besiskee [Ror & @2 .
| ‘WB123WW‘T%W€?W“
S () Name the prodrug of dopamine ? Why

IR oI D1 & \ﬁmmm%am9wq .

Yy two questlons from thev

®)

(9

a”b:[ﬁ' T2 (P @@ﬁmmaﬁaaﬂf‘

s 7 aeE? Gt afb-amerSl & A

o a-w— zmﬁ‘ﬁ R

What are sulfa drucs’P Draw. the
structure of sulfacetamide. Under what

" medical condition it is being used?
. erte the name of two bacterial species

against Wthh it is active. ° :
A+1+1+2=5
‘W@ﬂ{ﬁmﬁ*@ﬂmﬁr‘mﬁmwm
o | T aedEe 92t RIS
= e 7h @ERER W e e Jerw
plETelafboizs Aed 2| - -
Write the structure of ibuprofen. How
many numbers of stereoisomers are
possible for ibuprofen and which isomer .

is therapeutically active ? Mention two

advantages of ibuprofen over aspirin.
1+2+2=5

SRR A TS, Bl | B TER
fReseBT (BRSISIZGINE AT W (FRCH!

- izrgR R Ree ﬂ%ﬂ‘? ab-f‘on%ma
wfggU e 7o AR

(d) Draw the s.tructure of L-Glutamic
: acid. How is it being synthesized - by
fermentation process ? ' 1+4=5
3 tSem- ucscsa CHE SE 1/2/3/4/5/6/G 17 o .Contd.



AN b st i vk w1 | @i
[, [T A . ‘

. (e) E[ha't' is ;neght by vitamin C leaching ?
v Wal'n'e two dietary sources of vitamin C.
Vv r1te<tlt1e name of two bacterial strains
- 'commlggly used for - synthesizing
an ik rAscorbic acid through fermentation.
o o . 2+1+2=5
iwflﬁlﬂcm‘{mﬁ?\xﬂ%ﬁfﬁﬂcaﬁ
- ORDR e 1 Breil | R afermmaar @l
- OERER A e
) Writc' the structur
(SAR) of penicilli

QW afRe Ferae e arme 75 . / o

€ activity relationship
n-analogues. - :

NGRS

R g
4. Answér est ‘ h
ollowing :z_ny tﬂree. questions f_rioom3 tglg
. _ xXo= i

(@) " (i) What is the nitrogenous base
: zz;sli)?;it ;nv.the antiviral drug
effectivera.a ’!‘o \Vthh. virus it is_
of o gainst ? Write the name

& prodrug for acyclovir, 3

© - 3Sem-4/CBCS) CHE SE 120304506/ 15

o

P
il

o

-8

- af5eTRE gm 43T fego 41

ARy AR, P A R R o
- RofC 3 T ? RIS 2O DO

)

(i)

(b) )

What is a cardiovascular agent?

Write briefly about the medical
condition in which glyceryl

trinitrate is:- used. Propose a-

method for the - ‘synthesis of
glyceryl trinitrate. 1+2jl-2=5»

iferergaR SHEbe (qers) H e
s(ffgfer Ram Tz e fameiza

Bi3AI3E0 awe e «ot B
How does paracetamol . decrease
the body temperature? 2

RIS o Tl R 9 A 2

In the industrial preparation of.

‘ethanol by fermentation —
'ﬁ@ipﬁﬁ‘iﬁ - . )
(A) - What is the stéfting.material

and what percentage of sugar
. does it contain ? 2

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 19  Contd.
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(B)

D)

?’ @

"

n
, :cessary although the.
process is anaerobic ? 1

TORE = A e

N

tl’?me two mlcroozoanlsms
fat can carry out the
€rmentation. 1

wmmﬁzﬁﬂf’

, m W‘WTE?TR e i
'7 .
What are the nutrient
substances added ? 1

s R M Es—

What is the optimum. pH

fange for the process ? 1
. k.-<"l<ni\ﬁ?1??f\-«."rl<r T pH Wi

]“9

What . is the optlmum

temperatyure for thlS

process ? " 1

..A'gq
- 3 e aﬁ?ﬂﬁmma‘f'

ﬁmm

-Why is addmon of oxygen :

3‘%‘41@3] GH93fFs @E Arg

('\

-~

o W@ﬂml%ﬁm .
3= G8CS i s l/2/3’4la/6/G 20

(c)

@

(ii)

(1)

(i)

¥ (Sem-4/€BCS) CHE SE 1/2/3/4/5/6/G 21

| @ETeiRAfAE
wizafEAmR A am e & e

(i)

Write the name of four food
sources of vitamin B. What'is the
al1phatlc side chain present in
vitamin B2 ? 2+1=3

RBIR Byd BIRG! A Teo i ot |

'—ET&:{BQFWQW%WW'

ﬁw

"What are berizodiazepines? What

is the trade name of the drug
Diazepam ? In. what medical

‘condition this drug is being used ?

Propose a synthetic pathway for
drug Diazepam:. 1+1+2+4=8"

e & Fae

s % GhRY R T OW?

- szl @B AR ‘Wl’; Gl

What are the essential requirements

for a compound to be an ant1b10t1c ?
2

Bt cT afST T wA TS

What is meant by retrosynthesis?
How will it help to design a
synthetic. route for a particular

compound ? Explain by considering -
o 1+4=5

~any drug molecule.

e ————

Contd. -




(@)

.. (..

- -compounds named such ? 2+1= 3

ﬁﬁmﬁﬁs{%@rﬁrw9aw ¢l
MO effFre } R wmm o

| ﬁmmuﬂmmﬂmamﬂwg

Write briefly about the development

of ‘barbiturates. o 5

?ﬁﬁ%‘@mﬁwﬁmsﬁzfsﬁm

"Provide. two examples of f-

. lactam antlbIOtICS with

structure. Why are these

AT 51 - B oo T

) @3 RTTW A e ar

(@)

W?@v

Draw the structure of cephalosponn g

C. Name the two heterocyclic rings
present in its structure. Provide the

name and structure of the molecule |
" that is the starting

semlsynthetlc cephalosporins.

1+1+1=3

W’Sﬂﬁ—lcaﬁ‘éﬂ%mlmw

A B REES Rew am e

Rl e pelRae ReRs gz;/

Wﬁﬂmmmﬁm
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point of .

(3\

o

(i)

(iv)

' 3'(Se;n-4/CBCS)CHESE 112/3/3/5/6/G 23

(1)) What are ‘aminoglycoside anti-

biotics.?, Give one example.
Mention two adverse effects of this
category of antibiotics. 1+1+2=4

- oRRaiETsiRT 9 Fsrafs e e

<bY Twieael fwall |- @] 41 GFoIRos

R 707 et o

Let us considet the commercial

IR cws%a"“ aﬁf@mm—wml

(i) Which are the two main species

used for fermentation? 2
R efFmce @ g5 s ReTs
W.W 27°?

(i) Which between those two is used

malnly and why ? } 2
(TR, AR cwzf»‘t @fﬁ?ﬁ W =
o e

that, is the source of carbon ? 1
OIS FAT T e '

‘What is'the source of nitrogen ?

OIS 2GRS e 0 |

' Contci. '

. productlon of penicillini'in a fed- batch™
' reactor by fermentation. '

~mﬁmsz‘—zmc—@—@sﬁm§aw

©




(v) What PH range éhould be
maintained ? 1
- pHI 7R m g9 agsre |
- (V) What chemical compounds are \
used as precursors for production a

-of penicillin V and penicillin G ?
Give their structures. 2 ‘

CRbER Vv e ik G AES |
»aﬁ—mwwﬂw" ‘\‘*;.'
2 Frmes s e e - e

(vii) Which chromatographic technique

is used to monitor the production “
of penicillin ? 1 e wmt

(bR erwe ﬁcnﬁh YRR FRIE
T (! @’mmzrﬁw (T IR
Kol e
@ ). -What is: retrovirus ? Give -exarn'ple.
2
. @Gei e & qmv Tz for
(i) - Write the structure of

- azidothymidine and mention to

which class of anti-HIvV agents it
belongs. : 2

. Lﬂm’zﬁﬁﬁn’a ﬂé—t W\W'CBT 1%{2“
SIF 3 (A «@fB-HIV ufie @*?—F
TER 3R

|+ -3 Sem-4/CBCS) CHE %1 10304[5/6/G 24

)

(iii) Starting frorh D-mannitol as the
. easily available source for the

construction of the sugar -
nucleus, describe how
a21dothym1d1ne can be

-synthesized. o -6

Rl R STEEEre) G 1ol

()

(i)

mﬁﬁﬁvmﬁamﬁTW~

=, 9 |

What ar‘e sulphonamides ?

Mention two uses of it. Describe a
- method of synthesis of it

considering aniline as starting
material. Give one adverse effect
of using sulphonamldes

142+4+1=8
W’mﬂmw = = TR 7y TRk

Trad 39| GRS geERanizs

FEE AFS. I W? QYTF RGN

Wuﬂﬁ@tﬁmﬁm%ﬁl

What is co- tnmoxazole" - 2

e CO-%@W e & goe
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" OPTION-D
(Chemzstry of Cosmetics and Perfumes)
Paper CHE-SE- 4044

--'_Answer any four questlons from below :

" —a—ﬁm?m fﬁmmm‘éﬁva“'@mwo

i) - erte the basic purpose of using
face powder '

'aﬂf.ﬁ@mﬁw.mﬁw“@zﬁgﬁw_

(ii) Why is - preservatlve necessary in
shampoo ?

. WW@%WWWW‘

(iii) Is halr spray‘ related with hairvloss?
| (AR (B 1908 Bt o o g s

: l‘_(iv) Name the essential oil used in cold

and cough remedy.

.wwwwwwﬁz (—cma'

f‘ﬂﬂﬁtm

(v) 'State ‘ghe staternen'tl True or False -
ST St 7 Ry Bl

Geraniol is a monoterpenoid.

1x4=4

- (vi) Why is 2- phenyl ethyl alcohol used 1n'

perfumery.

(vii) N ame tHe Vitamin which is related with
good hair growth.

gﬁawwwwma?ﬁﬁmm“'

AN T 4

(vuz} Mention the plant part from Wthh

Jjasmine oil is extracted.

casmac—amz@mwwﬁwwqwm

Ted =0

- Answer any three questlons from below :

2x3=6

| Twaarwaﬁm ﬁzavaﬁﬁ‘ﬁ@—%%mno

() Write two side effects: of hair dye.
" W@‘WW‘W @mvi‘mﬁwx

. (i) Write two main constituents of a Oood

shampoo.

R4 O =3 7o T’i@"ﬂ"ﬂ@ﬁd?ﬁfl

(iii} Name one natural source of geraniol
oil and mention its one use.

(ORIREw (951 57 SIRFRo<s BT A1 forat =nies

39 A ﬁF/ Wﬁmta

zﬁqﬁaﬁwﬂwﬁwaﬂmﬁrw.

(ol @Ry S BRfR |
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(iv)

(vi)

'Mention‘two'. main types of face powder.
- R 2R T3 ) SieTRE S 3
v) -
-+ 2-phenyl ethyl alcohol.

'.Qﬁﬁﬂ_ﬂ?ﬁﬁﬂ ST 55‘/ Ao Ge
.Wmaﬁn

Write two natural sources of -

Wr1te two primary ingredients of
11pst1ck

'%I’P@WW‘&NH@‘?WF .

Answer any two questlons from the

followmc : S5x2=10

‘—a—ﬁmm ﬁmmvﬁ/a Tes 72 ¢

(@)

(b)

Define cold cream and vanishing
cream. Why is cold cream used during

winter season and how does it work on -

human skin ? ' 2+(1+2)=5

W%ﬁmr—ﬁw mzﬂ— T (@it B T

ﬁmﬁmmﬁmﬁrwmﬁ@“ﬁa
GRS B (Frare T FE e &

What are antlpersplrants and what is
its main use ? Write its one basic.

ingredient. Write its- two side effects.
-  2+1+42=5

3 (Sem- 4/CBCS) CHE SE L2356 28

(c)

@

SHFGARM#ET W & o TR e fo
IR FCE? A (R G61 FoT GoAR A
TR o e S 3 o

Wiite chemical composition of j:al_cum '
'powder Why and how does' it help .

human being?

WWWVI\‘{%WRW
7 Qe (ST R TR T F{A

How does lipstick work on human -
- skin? Mention four genuine reasons, A

how long-term use of lipstick may
harm human bemcs -  1+4=5
TR TS B Wmﬁwv‘ﬁa’ﬁm
amwmwwmﬁ W‘?@W%ﬁ?"ﬂ@

- OR fifss 51 SR Srad |
(e). What is:muscone ? Mention‘its. natural.
" source. Write its physical property. How
do huma‘n«b&:ir’xgs collect it from natural
'source and use it ? R

' 2+1+2=5

IR & 9‘?1132@—6@@1*@@?“@1@
ceife -« B | T0E 2ok eigtew S o
T SR A UG IRYR PR
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(A Which State of Ind1a has hlghest
-~ sandalwood o0il?. Mention four
important factors on which good
composition of sandalvvood oil depends.

1+4=5

, WWWW@%@ QR svoe
(95T BRAMH T2 YIS SHATIIN (OeT AT,
- & 5t <iee =i Sme 1

4. Answer any three questions from. the

_followmg - .- 10x3=30
Tﬁmwﬁ—ﬁsz‘—ﬁmhwo

(a) () Define essential oil. Mentxon the
- . basic technique of extracting
- essential oil from nature. Mention
" the special solvent which is used
during extraction. - 1+2+1=4

S (O% SR QST {31401 | 2ipfieq o
WIRHIFI (O ST o (5!

) S 1 | (O SRR M IS RO

GBI TrE 41 |

(i) Mention how human beings use
the following essent1a1 01ls for
their purpose : .

(1) Cwetone and (2) Eucalyptus oil.-
2+2 4 :

(MR IRZDR IR e
(1) Bfes's, == (2) BRI G R DIIAS gl
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lio)

. (ili) Write two basic ways by Wthh

(b) " i)

(i)

.'human bemos use essent1a1 oil.

2

R SR (S mWWﬁEﬁ
‘zm%‘malwu

Mentlon three methods by which -

rose oil can be extracted. Which

- type of rose is mostly used for oil
extraction ? In what different ways
‘rose oil may be used ? Mention one

- chemical compound generally used

alternative of rose oil.
: 3+1+2+1=7

T (R SRR T (o A

T T | (FCER (oNETiel G7 (oe
SRR AR ToFE ? (AR (oa T &
WW?F%ON%?cmﬁma*aﬁ
AR T IARES (TIGR T SrE

A
What the is the purpose of usmg

~shaving cream ? Mention two .
alternative compounds of shaving .

cream. , 1+2=3

W\WWWWU%'J CEF—\

_Wﬂaﬁw?ﬁawﬁv TR

W@@ﬂmﬂ
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(i)

Write four chemical compounds ‘
presen_t in good/ best face powder.

4

Te g4 Iy ACNRS IS 514
aﬁzrﬁzscz‘rmm%zmwn B

What is the best sources of
eugenol oil in nature ? What
method in adopted for . its

-extraction ? How men use it?

1+1+2=4

ﬁﬁ*mmﬁwm@m%%ﬂn

(iii)

thickeners used in a good

v Shampoo l+1—2
ﬂamm Qe ﬁzm |
Why is using hair spray

U

- Spray and hair dye.

Ww«m%@mmﬁw
]2 AR T @“(.‘I@‘W—CE9

Write thé names of two good

necessary ? How is hair spray
related with health of hair ? Write

three differences ‘between: hair
1+1+3=5

R 2! qER R RSl /7
WWE{% R 2R I
mﬂa‘ﬁ?mmwmw

| - 4/CBS CHE SE2356/6 3

N

N

ICE
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(i)

(1)

(i)

Write about the therapeutic use

of different éssential oils. =~ 5

ffen s cormrRa e C“@ '

@7 IR Rac &

What is nail ériamél? Write five

basic chemical compounds present
in nail enamel. - 1+5=6

'm«ﬂmma%9maﬂm—w:ﬁ9ﬂﬁfr
IRES (9 A o |

Mention two methods by wh1ch

analysis of essential oil is done.
1+1=2

SRR c—ﬁﬁmqw 751 Botim v

Write the basic difference between
hair femoving cream and' shaving

cream. 2.

WW\WWGD—F\WW
N4 fernn :F{

Write in short about the following ;-

5+5=10

—a—ﬁmﬁwewwm

(i)

(ii)

Cosmetic safety
e R )

Purpose of using fragrance
materials |

Contd.
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]

... polish - using. .

"

.‘refrlneor‘lilcguy 'Wl.'lat is a nail polish
oo :r? Mention five basic chemical .
4 Ponents present in nail polish

re NN
-poi?szvgrwWhy do people use nail
© Write two side effects of nail

1+5+2+2=10
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—

|

(i)
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OPTION-E =

o Peéticide Chemistry) |
Paper : CHE-SE-4034

1. A'nswer-.dny Sour of the following questiohs .

1x4=4

Choose the correct one :

&% Goaeh! R Gleradl ¢ |
[ , (i) Which of the following is not an

organochlorine pesticide ? .

ST (IO (o R SoI W 2

(A) Malathione RG]
(8 DDT . R
©(C) Aldrin @S

(D) Endosulphan Q&REE

The chemical used in ‘National Malaria
Eradication Programme’ is :

[T R I et Jrme IR
iRy T2

(A) B.H.C R.azg

(B) DDT AR

(C) 2,4-D 2, 4-f&

(D) Pyrethroid  <figReme

e ——————d
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|1
|

(iti) Natural 1nsect1c1de obtamed from neem
leaves is

= +iTes o1 szl 1 elrgpfes Soame Ry
(A) Azadrirachtin
L reRwEEn
- (B) Nicotine
Fefin
(C) Lawsone
TG
(D) Ecdysone
IFCIZ5

(v) Identify the weedlclde among the -

followmg
TS FRIRR TR @] SRR B
B ' )
@A) 2,4-p
2,4-F%
B Parathlon |

S SEy
3 (Sem- 4‘CBC j CHE 13j45 36/ ~e

VY

(v) The pest;.icide‘ used in foundation of
“buildings for preventing termite attack

is A
TR IR o T TR SRR
e A T FoARERY &= |
(A) Gammaxerie
A
(B) DDT
" e
(C) Aldrin
(D) Endrin
RRCE I
(vi) Rdtenone is a/an . -
FEAH R ARy
(A) insect hormone
IO T
(B) .natural -insecticide
AT T
(C) bioherbicide
TR BRI
, {D} ‘weedicide
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(vii) Alachor is an

AR <y
- (A) oroanophosphate pestlclde
[

(B): anilide pesticide
| | (C) organ‘ochlorine pesticide
‘ | TRy
| . (D)'A' Noné of the above
L emdeT

(viii) Carbofuran is used as .
(A) an agricultural pesticide
Ry FREre Foars =Zsicst
f!{» - (B)" a fruit ripening agent
T AR IS 251
(C) a food prgservative
A RS R
- D) a moisturizing agent
- ORI sl st

P 3semeajcBeS) CHE SEV2B 0550 g

(i)

| (i'ii)

- (iv)

(v)

'Give very short answers of the follbwing B
(any three) ‘ 2x3=6
.Tﬁmmmﬂw\mﬂ@—am (Rt fefn))
(i) ,What do you mean by herblcldes ? Give
' - one example.:

'V\?qamzﬁqﬁm—ﬁwaw off S o

Name two organochlorme pest101des.

AR - SR T cﬁiﬂaw@mﬁwl

What are rodent101des° Give anv

example of commonly ‘used rodenticide.
FERUTAE @R 2 AYRereR 7S <Ry
FIIANTET Tzl |

Can algaecide be considered as a
pesticide ? Which algaecide is used to
control algal bloomlng in ponds, lakes
etc?

mam%ma‘ﬁmmfism sief) TR ARG 2

- @IRRY CIETIZAR YR SIS FRETS TR
oo Rl IS R < W2

What is the full form of DDT ? In which

- class of pesticide it belongs to ?

P S @smm?ﬂaa?m%w
.ﬂm@v@f :
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(vi) What is the mode of action of .
rodenticides ? Answer briefly.

FERA PRI Roves e 2 5ajess v

‘Explain briefly. any two of the folloWing :

S5x2=10

(@)

‘Use of Gammaxene as a pesticide

TR T il e

- ®)

 «9

(d),

(e

Organophosphate pesticides

(SRTLTE RGP

Methods of pesticide residu_e analysis

AT SRR o sfafs

'Synthésis of organophosphate pesticides

- SRS AR ergeeel

Agricultural pésticides'

RS Foarrs

Answer the following questions - (any three)

(@) Define pesticides. Discuss in detail

10x3=30

different classes of pesticides by giving

- example of each class and their mode |

of action.

3 (Seﬁiéé!CBCSI CHE SE 1/2/3/4/5/6/G- 40 -

(b)

(c)

@)

. AT kT | o www [
- CATIRISI9T S SirerRCE IR ToIc B

T AMIC SCE  |

What are organochlorine pesticides ?-
Give chemical structure of any two
such pesticides. Write. the applications’
of some commonly used organochlorine

- pesticides. How' can these ‘pesticides
- affect human health ? S

o R PRI o2 (ol A

- SR IS 10 14l | eI R
(PR R Rl oA eicams) gl

TR | R B AR (AT i AT
TEAE 2. L
What do- you mean by pesticide

‘residue ? Discuss its impact on human
health. Describe various methods of

pesticide residue analysis..

VIR ST I T 1 2 W < B

O AAE WA T | FIHANRE SReeT
e [fen =iy Raw sz fn

What is chloranil ? In which category
of pesticide it_belongs to? Write its
molecular structure. Discuss about its

synthesis, uses and harmful effects in =

detalil. S o .
A  ——
R SRS W07 B | B e, R o

‘.ﬁﬁﬂSﬁmﬁf%%ﬂ?ﬁﬁﬁéﬁmﬁmﬂ1$§l'.
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- (_e)-'

)

o @ﬁmﬁmwwmv RRE e

Explam in deta11 the beneflts and

- adverse effects of different kinds of

pesticides.

ﬁﬁ?‘ﬁmmsmw—w—wﬁww |

Wﬁ“ﬁﬁ‘ﬁmmﬁbﬂﬁll

'.,leferentlate between natural and
syntheti¢ pesticides. Explain with -

€Xamples. Write about their advantages

" and disadvantages in detail. ° =
AR S seee R WEw IO
| WORE SrReE gz fres -

. SPIRATRS R Rigwora frt 1
Write -short notes of the followmg
1 (any two} : o
i () ‘ppr v%%f% -
o (i) Malathlon GIF'NQIRFI
PR (111 Chloranll T aﬁﬁﬂ
L (i) Alachor Lﬂw

What are carbamate pest1c1des ? Give
. examples. Why  are _they used’ for?
e Discuss about théir toxic-effects. How.:

can we analyze carbarnate pesticides ?

R 2 Stamer st | €% oy

WWWWIWW&?
W%ﬁwwﬁmqrﬁamv
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OPTION-F
" (Fuel Chemistry) ]
Paper : CHE—'SE—4’O64'

1. Answer any four of the followmg questlons

1x4=4 -

o (a) What is the formula of producer gas?

®

erfwm (TR PRI S1ecre [ 2

What is flash and ﬁre point of .
lubricant ?

mmmwﬁw»

(c)

(@

R

What do you mean by power alcohol ?

.Wﬂawiﬁmﬁsi@9

. Define octane nurrfber

@@ﬂw\waaﬁmm

lee two examples of antlknockmo o
agents ' : '

aﬁ?ruas\ arerﬁ 7o ?mq ﬁ*m: -
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. ,. Deﬁne calorlﬁc value of a fuel
T @TRES (o c—«fﬁaaf%am
@

- v e Bl

Deﬁne p1tch

" :_ Contd.
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) .':‘Giv'e two examples of gaseous fuel.

IR T Szl |

2. Answer any three of the followmg

'questlons ' " 2x3=6
w=re - Fieezar Fﬁﬁ/ 2P Bes il 3

(a) What are renewable and non-renewable

energy resources ? Give one example of

each.

ﬁwm‘m T I xnﬁw @wzﬁa
ﬁ%?zm—rmﬁ«ﬂﬁta nige faa -

(b) . How 1s coal tar formed'r‘ o

;vmaram awﬁtrsﬁm-qa9

(c) Write the d1fferences betWeen thermal
 and catalytic cracking?

oM c—a\mmaz G vmﬁs;%mm

: ,(d) Mention two routes for the manufacture
of isoprene petrochemical.

Gﬁ$ﬁﬁlGﬁﬁ%ﬁﬁ?ﬁﬁﬁ?ﬁﬂmﬂa%ﬁﬁﬁ¢iﬁ?.

| waﬁ'ﬁew:$a|

(e} Whatis the dlfference between base 011
and additives ?

T O I QrerTiss g5y ﬂﬁﬁiﬁ%m|
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)
N
N

%‘

() Define ultimate analysis of coal.

aswﬂagwmsﬁkaaqkﬁﬁ%aip:ﬁrmu

3. Answer any two of the followmg questlons

'vﬁr-ENTﬁkanwrﬁW aﬁairaiﬁm

(a) How are fuels classified ? Why are fossil

fuels regarded as the most important :

source of energy today?
2+3=5

| ~éﬂﬂvmatﬁzﬁéﬁceﬁﬁ%@mﬁaaﬁniﬂ?vmﬁremﬁ'7

é%wmigﬂ$ﬁ$at@@qﬁ*méassﬂﬁrmﬁﬂﬁr
amTiﬂ?

- (b) What is coal? Discuss brleﬂy about
: 'the composmons and types of coal.

. 2+43=5

Aﬁmﬂ1ﬁ$?iﬂﬁ'ﬁ$¥?m$'ﬁfTiﬁﬁﬁﬁ @S
B i TR |
(c) Wnte short notes on the followmg
' ‘ 2+3 S
5{(3ﬁﬁﬁ#ﬁ°' |
(i) Coal gas
FIE (R
(i) Water gas
e (1R
3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C 45 h Contd.

5x2=10 .?

|
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- @ ClaSSIfy petroleum according to the

4.

(@)

- Co A
| mposmons Describe the method of

Answer any three of
questlons

Tﬁmﬁmw%rmﬁmﬁm

types of hydrocarbon.

o RfSw oo gz gertm eome Rofe of
U ClERReR CafiRererT <1 ~
‘(“e)v ' What 18 hydl‘ogenatlon crackmg ? What '

- are the catalysts used for catalytic
| hydrogenatlon _Process?

AW R o
WW%%WWW@?.

2+3=5
ORI

Write shortly on aromatlc

PetrOChemlcals

.4 éﬁ’t“lﬁ"ﬁs C@IHWW% @QH_BWFQ”I

Classify petrochemlcals with their

Preparation of
chlorohydnn pro
TO 89S

Propylene oxide by
cess. 5+5=10

the following. .
‘10x3= 30 .

L L T s

3
o

(b) Descrlbe the general propertles of L

()

What is ‘biomass? Brleﬂy dlscuss'

~_different types of biomass.  4+6=10

: uwms%vﬁﬁawmw ev{a—m
.. Il A ‘ :

d) () Calculate presence of percentage

3 (Sem- 4/CBCS] CHE SE 1/2/3/4/0/6’(} 47

lubrlcants in brief. How are ‘lubricants .
‘classified ?

'q@@ﬁamwwwww{q@w%mﬁ .
o mﬁﬂﬁ—mwwWW|

of C, H, N and S from the following -

observations for a sample of coal :

'2.1g of coal is burnt in . a |

combustion tube. The increase in
weight of anhydrous CaCl, is
0.53 g and increase in weight of
KOH tube is 5.73g.

" C, H, NOI% S ToR¥foq *reaal siRmye
oTE RIERIT ol Fef g

7+3=10

2.1g T GOl TAS vEN NV T | TWE
CaCl-3 A ©1 7’7 0.53g & KOH

- R 3 w1 T 5.73g1

(i) Write the posnlve aspects of -

nuclear energy. 5

ek “fes e fﬁ“‘m« Bt |
Contd_




- (d) Clas31fv petroleum according to the
types of hydrocarbon v

f

(9)

%mW T%nv ?zn?r* (FECE dES T i’-“

ST 1 | A e AERE R |

What is fractional distillation ? D1scuss
briefly the principle of fractional
distillation. Explain the process of
fractional distillation. 2+ 3+5= 10k,

R oied 5 2 2 6 O9EI b3 SCEival
341 | SIFEE Siren 7wl I 4 |

How is viscosity of lubricant -
measured ? Discuss the 1mportance
of animal oil and vegetable oils.

_ 5+5=10.
SRR (TP AWSl (e o Tl 282
AGTOF < C[ENGS (5579 KA SNies= 541 |

(h) Mention the effect of pressuré and

3 (Sem- 4/CBCS) CHE SE 1/2/3/4/3/6/C 48

_ temperature on carbonization of coal .

tar. Write the negative impacts of
burning fossil fuels. 5+5=10

SETEO MRS b7l SN THeoR e T

T M W TR T (A
deorE ae &
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